Ef-TEBRRAREE-—ER SM74E5H29 A BE
— XEEE HEMAITRE
HEFHR EEE
=E=1:) —RAHEHE s
TETHEEF O | X
X7 (BKE) RER=EHEE |16
(EWKE) |TERSEHREE [152
ST EEKEE |RIT)IFRE=9, BET)IFRE=10.9, {EHE)IFE=28
— HogE ANAGRE=014, 15.1), RiT)IGRE=(15, 4.2)
EETNSATR | xmimsie)
3 T ; fE 20m/s
=4 =R SEEE ey 20m/s
= - > fE 20m/s EEHES
FRE FERE B 20m/s EEMES
= - i 1265 EIFEE DES10cm
= RROFS D 128 R E O x200m
KR HFEES 2.5m
= 80 B4 5.1m
PN REWNEEHEE |7
TIERNEEHEE 123
FUSREEHESE (RIT)RE=7.2, WET)IGRE=8.7, {£A)II7E=22.4
. A= (5, 13.4), RiL)IIftiE=(5, 3.8), TWET)IIRiE=(5, 6.5),
K wase 5 6811 k=6, 17)
EEMNSATR | xmimmie)
W . fEE 10m/s
SR A T RE B TOm/s
5 T N fEE 10m/s EFHES
RE T RE B Tom/s BEES
= - i 1205 IR E D iES3cm
AS REORS Wit 128 R E O F Sbom
N KR e 1.5m
ARE =g St Zim
£ EEFICKYBENTEINSEE
BE
s - fEE 100m
p-—+ 1Ri2 B 500m
BrI% &/INBEA5% T, ENEE65%
BEEDFES100cmU LT, ROWThH
P 1SRURS CUlLEDIFR
= HEREFICKDMER
FEEDFERE30cmLl L
&8 B PELYFHTBEHACLULENBAAIEKV %, SHI2BU LR EFEEINSIGE
o L8 FHBTREKE-3CUT
= 11B30BETHEFE. SA15ALIKNDIGTE. RIEKIB4CLUT
EK-ES KB-2°C~2CHREHLTT.EEE15cml LDIFE

(5o R R0 R P Rl A R TR 2R

[110mm

TERRE

NREREEY AEFEEY OMAShEICkIREBEERLTVET,



